
Craven Equipment
Inspired by Adventure Built for Everyday

Bike – Velocette Mac

The correct rack for these bikes is a ‘L2’ rack

The fitting kit is designed to mount the rack to the motorcycle and also has the provision to
hold panniers should you require it.

Included in the fitting kit -

Part Number Quantity Description

P497 1 Carrier arm Velocette Venom/Viper & Mac, left hand

P497A 1 Carrier arm Velocette Venom/Viper & Mac, right hand

P174 2 Z support

P175 2 Front support

41-0146 2 Distance piece - stainless steel

FA1477Q 2 Set bolt, M8 x 25, stainless steel

FA1530Q 8 Nyloc nut, M8, stainless

FA1476Q 4 Set bolt, M8 x 20, stainless steel

FA1029Q 8 Washer, half penny, M8, stainless

FA1046Q 2 Bolt, standard head, M8 x 75 (3"), stainless

Fitting the rack:-

Attach the long support arms to the pillion footrest bolts, tighten up. Attach the front
supports (P175) to the back of the sliding shock absorber top mount. Attach the P174 Z
brackets to the mudguard near to the long support arm. Now you are ready to fit the rack,
the front supports require a spacer between them and the rack. Once fitted and level
ensure all nuts are tight. See pictures below for more information.

© Craven-Equipment.co.uk 01986 891096 contact@craven-equipment.co.uk



Craven Equipment
Inspired by Adventure Built for Everyday

Please note that the tube clamp is no longer required as our racks now have a ‘skate’ on
the bottom.

© Craven-Equipment.co.uk 01986 891096 contact@craven-equipment.co.uk



Craven Equipment
Inspired by Adventure Built for Everyday

© Craven-Equipment.co.uk 01986 891096 contact@craven-equipment.co.uk



Craven Equipment
Inspired by Adventure Built for Everyday

Please note that the tube clamp is no longer required as our racks now have a ‘skate’ on
the bottom.

© Craven-Equipment.co.uk 01986 891096 contact@craven-equipment.co.uk


